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.

. To implement an educational approach successfully, ane must match the philoso-
phy of evaluation with that of instruction. This is particularly true when individual-

FOREWORD S o | \

ization is the key element in the educational approach. Yet, as important as it is to

achieve this match, the task is by no means simple for the-teacher. In-act, without

specific resource materials to help him, he is apt to find the task overwhelming. For -

this reason, ISCS has developed a set of individualized evaluation materials as part of
. - its Individualized Teacher Preparation (ITP) program. These materials are designed

to assist teachers in their transition to individualized instruction-and to help them .. -~

tailor their assessiment of students’ progress to the needs of all-their students.
, .
* The two modules concerned with evaluation, Individualizing Objective Testing and
Evaluafing and Reporting Progress, can be used by small groups of teachers’in in-
service settings or by individual teachers in a local school cnv_ifénment. Hopefully,
they will do more than give cach teacher an overview of individualized evaluation.
.. These ITP modules suggest key strategies tor achieving both subjective and objective
evaluation of each student’s progress. And to make it easier for teachers to put such
strategies into practice, ISCS has produced the associated booklets entitled Perform-
ance Objectives, Perforinance Assessment Resources, and Performance Checks. Using
these materials, the teacher can objectively assess the student’s mastery of the proc-
esses, skills, and subject matter of the ISCS program. And the teacher can obtain,
- at the moment when they are needed, specific suggcstlons for remedying the stu-
dent’s ldcntlfltd deficiencies.

If you are an ISCS teacher, selective use of these materials will guide you in devel-
oping an individua)ized evaluation program best suited to your own scttmg,s and thus
further ¢énhance the nuhvnduallnd character of your ISCS program

. - ' The Co-Directors
——'—1 ) -

Intermediate Science Curriculum Study
: Rm 415, W.H. Johnston Building
¢ 415 North Monroe Street

Tallahassee, Florida 32301
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Now that you have completed several chapters excursnons and self-evaluations, you
age ready to help your twuher determine how well you are domg The performance-

checks in this book will provide your teacher with this information.

Then your

teacher can help you with things you may not understand and can keep a record

of your progress.

Read the next section carefully. It explains spme important things about the per-
fo_rma_mce_ checks in this book, and it gives you specific suggestions for using them.

What You Need To Know about Perfarmance Checks

.. You do performance checks when you are ready. Per-
formance checks are somewhat like the questions in the self-
evaluations” - you do them when you are ready, not when
the whole class is ready.
2. Your teacher or both of 'you decide how many you.do.
Your teacher or you and your teacher together will decide

" which ones you should do. You are not expected to do all
of the performance checks.

3. There are three forms for each performance check.. Every
purtormdmc check is written in three forms A, B, and C.
(The title of this booklet tells you whether it is Form A, B, or
( .) Usually the answers for each form are different. When
you do a check, you will use only one form. The A, B, and €
forms are always in different booklets. Within each booklet
“all the performance objectives for the same unit are listed
togéther. A wnit contains two or three chapters and their re-

lated excursions. These umts are m numerical ordcr Each- *

unit has performance checks based ?n core material and per-
formance checks based on excursions.

4; Each performance check has its own number. The number
is in the outside margin of the page and will look like this:
ES-03-Core-17A or WB-01-Exc 2-2-2A. These numbers meah

.
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'S. Each “performance check\k\sepnr‘ated from the other. _ _
There is a line before each performance check and one after -~~~

it. Some performance checks have several parts, so do every-

thing called for between the lines. If there is no line at the - :
bottom of a page, the check is'continued onto the next page.-
-6 Sometighes you will need to use equipment. If special

materials are needed, they will be in boxes labeled with the

“same number and sometimes the same letter too as the per-

formance check for which you need them.

7. Some performance checks have two or more answers. If  ~

more than one answer is correct, you must select all the cor-

rect choices. In such cases', selecting just one answer is not
enough.

8. Some pgrformance checks have no answers.: Occaslonally, .

you may be asked to. do something that is.impossible and to
explain your answer If so, say that the task s 1xnpossnb!e
-and explain why. ‘ ' ' : -

This isnt the kind of
checkbook you write in,

9. You share books of performance checks and YOU DO
NOT WRITE IN THEM. Write your answers on other paper.
Give the number and form of the perfarmance check for each
answer you write. If you are to draw a graph, a chart, or a
map, your teacher may provnde you with grid paper or a copy
of the map or chart. -
10. Your teacher or his assistant will collect and mark your

checks. And sometimes you must ask him to watch or assist -

you as you do a check.

I1. Sometimes a review procedure will be suggested If you

..can’t do a performance check, you may be asked to review

a part of the text or a self-evaluation question. You 1pay
then be checked on the same material, so be sure you under-
'stand tne ‘natenal you review. .Get help if you need it.
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" Flu'is an easily caught disease which oceuss in different forms.: Duri_ng\_he Middle .- : ES )
Ages such diseases often spread across Europe, but they spread slowly and regularly: ~ 01-Core-1C.  , '~

outward from a single city. Today, on the other hand, northern Europe may have’
a flu epidemic at the same time that a flu epidemic occurs in southern Europe. Look

,-at the maps below. Then explain why. diseases spread much more rapidly and irreg: \
ularly from place to place today thap they did in the Middle Ages. :
‘ : : Epidemics in Europe - , S
" T~ A | (Dated lines represent time -
' Middie Ages of outbreak)

'KEY -
Recent i

SYMBOL | OUTBREAK
REPORTED

Ist week
2nd week
3rd week -
4th week

HLIW( N =




ES o Get a copy of the map labeled ES 01-Core-2 from - your teacher Suppose that out-
" 01-Core-2C . breaks of smallpox were recorded as shown below

MONTH ‘AND YEAR | NEW CITIES AFFECTED" BRI -
January, 1840° | .L:isbo'n,-'Madrid,.Bo‘rdeaux, Angers, '
: .| Bristal, and Dublin

July, 1840 . | Trondheim, Hamburg, Frankfurt
- - Venice, and Rome :

e _ : January; 1841 Riga, Warsaw, Dresden, Prague
' C ’ - | Vienna, Belgrade, and Athens

2

Draw a line of best fit for each one of the dates given in the table above.

ES © " Doctors in a distant country have dlscovered that a disease whith s transferred from
- 01-Core:3C , " one person to another is spreadmg rapidly. - : :
' ’ - 1. Is it likely to spread more rapidly in the rural areas or in blg c1t1es"
2. Explain your answer. ' > :

> . - _ -
ES ' * Suppose a certain country announced that an cepidemic like, the 14th century Black
~ 01-Core-4C Death is spreading. : :
. - 1. Could an epidemic of that kind occur today" N S _ .
© 2. Explain your answer. . : : -y
ES ' List two or more eondltlons that would tavor ‘the spread of an epl,demle throughout a
01-Core-5C - . " alarge city. ‘
ES™ = . Lo A doetor has been hired to help the governmcnt of a heavily populated country. His
01-Core-6C * job fis to advise the government as to the fastest and most effective way to reduce’
. . the number of epidemics of serious illnesses that sweep the country from time to h
’ time. The government can- afford only one of the programs listed below:
. -a. Déveloping an improved trdnsportatlon syste'm 50 that doetors can travel
“mare quickly - : o
L : - ~ b. Building new medigal sehools to train more doctors '
o ' ¢. Building new hospitals sbthat more sick people can be treated *
< d. Building fany low-cost government housing projects to eliminate over-
crowded “and unsanitary living conditions ¢
¢ ,. ' ' I. Which one of the programs above do you think the doctor should recom- .
) mend? . o
. 2. Explain your answer. .
ES - ' Explain, what is meant by the term coriponent in a book about systems.
01-Core-7C : ' o
ES o ~ Consider a truck as a system. List three components of this system. .
Y

_ 0.1-Core-_80




A forest and all the plants, ammals and thmgs in- it are often descrlbed as béing a . o E'S_

system. ‘Define brlct‘ly what a system is as usedin the sentence above L s 01-Core-9C
The diagram below shows, a duck-air _system‘..' List_any three labels which identify - " . ES
components of this system. ' , - ' : Tl 01-Core-10C
o S . / R A

o

bl

Motion energy e—e

\

Duck-Air System

Living things in the sea have been releasing their 'output of waste products into the - . - ES
sca for millions of years. Yet the concentrations of their-output are not increasing. | ?, 01-Core-11C
Explain why we do not find the concentrations of the output increasing in seawater. -

. Y
A dog can be thought of as one component of a system. In the list below are some . ES
oW thmgs which are input and output of this compone nt. _ '01-Core-12C
-a. Food ' : , .
b. Urine
“¢. Water . 3
- d. Color
¢. Heat
f. Tecth
1. Write the letters of two things which are mput to the dog.
2. Write the letters of two things which are output from the dog.
— > . : —- : : .
" Define the word producer as it is used in the following sentence. Elm trees are . 7. ES
producers. - . o / , ' : 01-Core-13C
- /
7 .

3
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. ES T hé ‘word -consumer is sometimes: used to describe both mice and cats. . What does -
01-Core-14C consumer mean when used in this way? : STy :
<
X : :
! . .
ES : Somé_ organisms are called decomposers. What is i'ne_ahf by the word decomposer? -,
01-Core-15C : S P , - | E

o Consider the environmental sy’s'tcm pictured below. Identify

f_qll,o,ang'.list as a producer, a consumer, or a decomposer. *
~ " '1. Squirrels, which live in tregs :

2. Hawks, which hunt for squirrels

3. Oak treeg, which grow in the woods -

4. Bacteria, which feed on dead squirrels

each component in the

I . L
T = .
' .o - C
4 o Bacteria
o : -
Dead | °
squirrel - S
Y ¢
. ; .. €
4 ) .
: Squirrel , ' :
. . ) .
< |. ) . .
. N . ‘
. h > -
. % < R
/ ' Hawk '
' Oak tree 9
. .
L . . .




Oudslonally’you see d pcrson throw an empty ugarette pdckage onto the street.
A small crumpled-pp package does not affect the environment very much. However,
most " cities "haye passed laws against littering. Why do govcrnment% pass lawvhat
makc a little tlung, like this lllcga]’

“

=
g
Co

T e .
e - —_t . - -
- . Anew,moderp steel.mill is to opcn'. Mr. Schultz, the mill press officer, explains how ES ,
r all solid, liquid, and gascous waste will be chemically treated before it is discharged . ¥ 01-Core-18C - A
' so that: it will not be harmtul ta the environmept.  [n faet, Mr. Schultz made a . .
stAter the press saymg that the s‘tccl ‘mill w1H be so well designed thatgg will - ’
. ]
© S not influence its surroundings at all. = . ! . . )" . y
) . I. Can Mr. Sclfultz’ \ahucmcnt to thc plcss be true? y A R
2 E xplam yOur answer. ST T ) ST ' .
N .. : T L ~a o+ . . .. '
— ——— - — —_——— ¢
fn the four cases below, decide whetherhe influence on the underlined -livizg organ- - - .ES"
“ism is direct or indirect.  After the number of tach case, write direct or indirect. . 01~Com-1?§:."
1. Trees die from lack of watcr because the arca around them«has becn . L
¢ covered by concrete, oL T o
o' o 2. A city rdduces the number of pg)lc mar{ins, which Ldt mscuts when m _ “'K
. drains ncarh wamps to kill mosquﬂocs and other-inscoss. ;5 ' :
3. Young fruit’trecs die because in the winter their bark is caten by rubbits. [ o '
4. A large ut)g- cuts:down the pigeon population by poisoning the plg@_ _ & .
N - . . p e -
D b Al . T - v
The diagram beloy shows the food flow throu;,h a balanced system-in a ficld. Pre- E ES™T
°. dict what- might happcn it “the birds wete tlcstroycd by the overuse of DDT. -+ 01-Core-20C
0 . .’ ' .
. »
o~ ¥ .
. . .
. - r
4 . .
- 3 _’f. - “
- . ~ P ’ - N
. There is a large, almost unpolluteghlake in central Florida.” Mostof its,water comes - ‘ ES . ‘
, ... from several’rivers whicll drain into it. New paper inills ar¢ under comtrumdn up- . 01-Core-21C :
strcam on three of these rivers. Give at least two ways in wlmh ‘the enviropment ' .
probably willbe affected bry pollution whcn the papcr mllls arc |)Ul]t « - .
e . L . . A L Y .
. ! ' ; . '
‘.. 4’ v .
i - . . V4
o .. 3 _ _
a " ’- T
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ES , . * ATV commentator reported that the average person living in the United States has
01-Core-22C . the same effect on the environment as 30 persons living in one of  the nonindustrial
" . nations of the world.  Explain how this could be true.

e

ES . Select the best answer.  Which of the following will affect the environment?
01-Core-23C . a. An executive driving her car to work '
: b. A student pedaling his bicycle to school
¢. A housewife doing thedaundry
- d. A flower blooming in the gardew

[ j " - e. All of the above

-~

-

ES ~ . Describe the inpht and output of gases in the system formed by fiving things and the
‘01-Core-24C ., - atmosphere that surrounds them-n the following situation. An Arabian nomad
makes his home at a palmr-shaded oasis.

. o

Nomads f < = B |

ES - .' " List two things which are inputto and three things which are.output from the !’
01-Core-25C human body. o :

ES - ' " The sysiem picturéd‘belpw is in balance. 7 _

01-Core-26C I. What would happen to the insects in a period of drought when no water

in the form of rain would be available for the plants?
2. Explain your answer. ~

.
.
’
[4
e v

-
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~Your teacher will observe you for thi¥ check when he can. S : ES
' 01-Core-27C
= L i . : T - } -
Your teacher will observe you for this ¢heck when he can. _ - ES
' - . . 01-Core-28C
Your teacher will observe you for this check when he can, : ) _ ES
" : S - ‘ 01-Core29C  “
— _ . — —
Your teacher will observe you for this check when he can. T ' ES
' - 01-Core-30C
Your teacher will observe you for this check when he can. - ES
: : 01-Core31C. . ... ..
The table below lists the total number of seeds planted by ISCS students during the ES
first 30 days of £lasses. Get a partially labeled grid or an unlabeled grid from your 01-Exc 1-1-1C
teacher. If the grid is unlabeled, draw and label the axes as shown on the grid below. :
. Put a suitable scale on each axis. Then plot the data, and “draw the line of best fit.
LA : .
-1 DAYSIN | TOTAL NUMBER @ .
CLASS ~ | OF SEEDS - Z
PLANTED 3 _ -
a 4
0 0 a
[¥¥]
5 2 77
- ‘6 4
10 | | 5 & \ -+
m
15 14 B g
20 e 17 z
o . = - »” ....J 0
25 7 - 24 e
S , — O
30 . 28 = )
C - \',7
¢ -~ - DAYSIN'CLASS N\
Pbly -+ CuSO4 = \Kzs()4’ 4+ CuCly ' v N, B8
(ledd ihdide)  (copper sulfate)  (potassium.silfate)  (copper chioride) =~ - .. . 01-Exc 2-1-1C
, 1. Is.-the, above reaction passible?. T a SR C el
-2, Explain yQur answer. _ . S - 3 |
- » ' e . © ' v o ;




ES
. 01-Exc 2-1-2C

K.

]

e
_‘ QN > QO + M
v ooy Qo

In the equatlon pictured above, assume that the symbols A dnd O represent dlfferent'”

kindsof atoins. After the number of each term below, draw on your answer sheet

the symbol or symbols taken from the equation above which 1llustrate the term.

1. Reactant ‘
2. Product -k
3. Element o K

4. Compound o B ’

’

-

a Es ’»

+ 01-Exc 2-1-3C

“Judy is producing some hydrogen gas. The chgncal reaction that she is uslng to
“produce-the gas’ is - :

S In +
" (zint)

. H PP . " . “
2 .
(sulfum dCldi (zmc sulfate)

(hydrogen)

Whth of the following actlons would not increasc the rate at which hydrogen lS .

produced?
a. Adding a cdtdlyst
b. Increasing the concentration of H,SO,
¢. Heating the substances that are reacting
d. Decreasing the concentrationof Zn -, -

ES

01-Exc 2-1-4C

Piles of dead leaves react with oxygen in the air in a process that is usually called
burning. However, before the burning starts, the leaves musf be hedted Explain

« why this heat energy is needed to start the burnlng process. '

ES

01-Exc 2-15C

Match the letter of -each definition below with the number of thﬂ: term from the
ISCS particle model to which it applies.

Terms .

_ 1. Element
A Compound -
3.

ooow 0

Definitions
a. A new substance produu,d ina °
chemical reaction : .
b. A substance containing two or >’
more different kinds_of atoms
Yo A particle that contains-equal .-
" numbers of pOSItlYé’and negatlve
: Lharges ST
- o d. A startmg substance ina ohemncal
.. S Co : rt,a;,tlon . :
kK - €. A'substance containing only one
_ : kind.of.atom | - -
,_ " 7 i, A particle with either excess posi-
' o tive charge or eXcess negative
e charge . .

4 a »
5. lo oot
6. Molecule '

LR



LY
-

- N : 2

Ernestine- measured the temperature of two liquids, A®and B. She then'mixed tlp . : - ES
two liquids and measured the temperature again, . - ~ 01-Exc 2-1-6C
LIQUID | TEMPERATURE (in °C)
A 16
B ‘ i8 1
A+B ¥ S R |
i T — . 4
Select the statement below that best describes the relationship between the energy -
needed to separate the reactant particles and the energy released when those parti- Tt

cles recombine to form products in the chemical reaction.
a. The heat needed to separate the reactant particles is greater than the heat .
released when those particles recombine-to form products.
b. The heat needed-to sepgrate the reactant particles is less than the heat

released when those particles recombine to form products. . .
¢. The heat needed to scparate the reactant particles is equal to the heat ' )
. released when thpse particles recombine to form products. : ' \ ‘
d. From the information given, you ‘cannot tell which energy is greater. '
Men in a ranchers’ association have spoken with a legislator about the problem of .ES‘.
bobcats killing their sheep. They want a bounty on bobcats to encourage people 01-Exc 2-2-1C

to shoot them.s Their argument is that the bobcats don’t do anyone any good and
killing them would let more sheep live. What information should the legislator try
to get to help him make a decision? 1 .

2




Give the meaning of the term biochemical oxygen demand. : ES
' : ' 02-Core-1C
* John measured the number of microorganisms in samples taken from a small lake ES
twice a day for a week. A graph-of his data is shown below.’ 02-Co'_m-20
. ) \ .
A
» ' gg
» a1 i o ™
£
: 8§
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Which of the following graphs best shows the.oxygen demand of this population of
microorganisms?.
Graph a. ’ Graph b
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ES ‘ Chris and *Stephanie measured the.amount of time it .took for the blue col‘or to
02-Core-3C  disappear from test tubes Lontammg yeast and milk. (‘hrns claimed that the col%r y
S change was caused by the milk. Stephame claimed that it was the action of the yea

and milk together that caused the Lhange Describe an dCthlty you could do to
determine who is correct.

t
3

ES . Select the graph that best shows how the oxygen dcmand of a popyuldtlon of micro-
02-Core-4C . organisms changes with an unlimited food supply. e~
' /
|
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Graph a ' Graph b
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Sonnee put 8 yeast organisms into a lai’ge test tube full of warm milk. Under those
conditions, it takes 10 minutes for each yeast drganism to divide in.two and become -

- two yeast organisms. Predict the number of yeast organisms that.will be in her test

-

“+
[V

A L ) o,

tube after 1 hour. o

ES

02-Core-5C

.

Rosie has put a few microorganisms into a bowl of beef gravy. There is enough

, beef gravy and oxygen available to support a very large population of the micro-

organisms. Select the graph below that best shows how the size of the micro-
orgamsm population will change over the next few hours,-

-

’

Graph a. _ : Graph b. I
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INCREASING

> e - —>
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ES . . At one’end of Dog Lake is'a small commumty which allows its sewage to flow into
. 02-Core-7C . the lake. One day, a’man from the community noticed that. certain kinds of fish
- no longer. lived in Dog Lake. The most probable reason is that
a, fishermen had fished that lake i in such great numbers that most of the fish,
had been caught. :
b. the sewage poisoned the fish.
c. the water contains too little oxygen..
. d. the water stmks too much.

Y

Es  What is a cause ofathe. oxygen death of a lake or stream? T
02-Cor_e-8C - . : ' ' " '
ES Moon Lake has become filled with sewage and decomposers.” A group of concerned
02'-Core 9C citizens from the nearby community says that the decomposers have taused the lake
.~ todie. The group wants to spray it.to get rid of all the decomposers '
T e . 1. Is this a good solution to the problem? .
e -~ 2.1f so, explain why it is good If not, suggest abetter solutlon dnd explam
' ' why it is better. : RPN
. ES _ ' . Tom eompleted a sur;'ey of the number of fish Kving in various pérts of a slow-
. 02-Core-10C moving stream: He drew a diagram and table like the ones shown below.
Séwage outlet
. . \u A R C. 3 .
. ~ T, eglon._—->n- 4 .
Region 1 > : egion
N I " Region 2 —7 . ) \
e e _ P . — . Region5 -
S .- | REGION NUMBER
B ' OF STREAM | OFFISH |
| rﬁany. fish| ° e F .
v ) - » . .
2. many fish _ T i A
3 . .4 |- some fish
4 “few'fish 0
e SEETRITR I g :’_,.I_-. ' rﬁ 'ﬁsb '
o Use tht you have Ie?rned about the decomposition of raw sewage and the needs of
e N fnsh to explain Tom sobservatlons N S

e N
_f

T
* -
‘ ¥

o




?he town councils, of several towns that draw wpler from a nearby river have been

tolds by ap investigating team of scientistd that the methogs they are using to purify .

~ new’ water purification - plants that use more cffeq@ive methods to get the water
~ “clean” enough for human use. Explain why the of®er, simpler methods of water
’ purificatro_n no longér work. ' '

their drinking water are no longer good enough. A{esult the towns are building

.-02 -Core-11C

ES

+ Jeff washed his dog every week in a tub outside the house next to a new ﬂoWer bed

where his mother had planted seeds. After several weeks he noticed that the area of
the bed that got splashed by the wash water had put up fewer seedlings than the

rest. Those plants looked less healthy than the other plants What probably is the
cause of these differences? : _ \

ES
02°COYO:'12C .

. . ; :
Mr. Zane’s science class wanted ta investigate the effect of detergent ‘on the germina- .

tion rate of different seeds. His class used bean, tomato, pea, and cucumber seeds
Bised gn your work. with radishes, select the,best predretron below that you can
niake ‘out the results of their activitics.

gent affects only radish seeds.
b. I have no basis for predicting how the detergent will affect other seeds.
. All of the%eeds will have a lower rate of germination, just like my radish
seeds.

e

d. [ think that the detergent will cause a lower germination rate, but 1 am not

sure because 1 tested only radish seeds.
. T can’t predict how the activities' will turn out because detergent affects
only root crops, such-as radishes, beets, turnips, and garrots.

[«

a. None of these sedds will show'a lower germmatron rate because the deter-.

ES
02-Core-13C

Often farmers will spray their fhlds with insecticides to try to kill the harmful in-

. sects. "Experiments with some of these mseetlude\ show that they remain in the
sail for several years. Describe an activity that you could do to determme whether

the insccticide Debug44 will affectthe germmatron of corn sceds.

i ol

ES

" 02-Core-14C

N

— e —p—

The solid wustes of fish are biodegradable;"',What does.bivdegr&dable mean?

-

. 02-Core-15C

ES

o -

A large ¢hemical plant has begun to dump biodegradable ehemreale into a nearby g |

, lake. - There has been a rapid drop in the amount of dissolved oxygen in the lake.

Deserrhe how the biodegradable ehemreals can eduse the rapid decrease of dmsolved '

R oxygcn in the lake. s e

K] & h M e e

. ES.
02-Core-16C
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ES " The fact that a product is blodegradable is not.a.guarantee that it w1ll not pollute a. ) ,
02-Core-17C stregm. Which of the followmg best states how a bnodegradable substance can cause
pollution? : - - | '
a. It will accumulate in- the water. - '
b. It can decompose waste products of the plants and animals in the water.
c.. It can be broken dqwu into simpler substances by living organisms.
d. It may be a food source for organisms in streams Whlch will, in tum be-
come overpopulated ;
ES " Consider the following situation. > . 7
.02-Core-18C Chris Howard, a lettuce grower, sprays his crops w1th a nonblodegradable pesticide.
' Since he is very careful to spray only when there is no breeze, he says that the wild-
life in and arOl{nd a pond down the hill is not affected by hns spraymg
l.'Is Chris correct? -~ :
2. Defend your answer.
. 1<
ES -
02-Core-19C
Insect -
r : " Leaves .
. . & R '
| I. State the term’ uc;ed for the system shown above Yo
2. _l:xplam what the arrow betwecn lnsect and blrddn the dxagram means
. "ES S > A chemist from a certain factory that puts large quantities of i nonbnodegradablc SR
'02-Core-20C waste into a river-tested the water several miles downstream. “He. found less of the |
, L “ehemical in the water. State two reasons which _account for the dnsappearance of
Yo + . some of this chemical from- the watcr e
e \ * - % ’ "?""
.0 )
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* The dipgram below shows part of a food cham ina freshwater lake and its surround-
ings. “The lake has been- polluted with NDT, a nonbrodegradable chemrcal that
.accumulates in the body of livfrig organisms.”
I. In which type of organism would you expect to ﬁnd the hrghest concen- -
tration of NDT?” . -~ <
2. In which type of .orgamsm would you expect to ﬁnd the Iowest concen-
tration of —BJ DT?"

Mud plant - : Mud snail . Fish

02-Core-21C -

Some widely used detergents can be deCOrhposed.'by living organisms and are a huge
source of food for them, The population of these organisms increases so greatly that
their waste products become serious'pollutdnts Other detergents which are not

easily decomposed can accumulate and kill organisms.” What would be the character-

istics of the ideal detergent"

s
~ a

T ES.
02-Core-22C -

e i, b

- Take your Record Book to your teacher: Your ta;k is either to defend your written’

. response to Problem Break 4-4 or 4- Sorto mdke a satlsfaet()ry chdnge in any part. of
At that your tuehcr questions. C : -

A S

ES

i ek

v

Eggs undergo a slow ehemleal reaction ;lurmg btora;c F‘resh uneooked epgs are

. ES :
Vo “kept in a refrigerator rather than out ih the warm arr Why does stormg an Mncookcd.’ OZvCorea24C A
i ' ‘egg in the refrlgerator keep it tre h Iongcr’ :
;ﬂ . _“’I‘rudy measured the body temperatures of three'different ammals She then changed . ES
* the temperaturé of their surroundings, waited two hours, and measured thur body 02-Core-25C. ‘
. temperdtures dgam Her ddtd are shown below. - P "*'k
. [HEMPERATURE OF = " BODY TEMPERATURE (in°0)] -~
| SURROUNDINGS (in °C) [Animal I);]-Anjmal 2 | Animal 3 T
a 40° | 2 e 39 S
25 . |2 |2 24 s i ’

- _ : DR S —, " I

RV

,fi:ndi\ca\fe whether each of the anin};ﬂs is warm-blooded or cold-blooded.

ES -

- 02-6ore-23C , " -



" ES _
02-Core-26C

»
«

In the body of a frog, chemlcal reactions occur which release energy to the frog

* Frogs are . cold-blooded animals. A_frog cooled in a refrigerator for several hours
moves very-slowly if at all. Yet on a warm day, frogs react quickly and with great

leaps. Use tht you have Iearned to -explain why this i Is true.

P v

ES
02-Core-27C

State the meaning of the term thermat death point.

~, ~
‘e

4& B L] 9

ES -
02-Core-28C

-

| Larry decided to sell some of the tropical fish he had just bred. He put the-fisfl’and»
. some of their water into a plastic bag to transport ‘them to-the aquarium shop. He

knew there was enough oxygen in the bag to keep the fish alive at least five hours.

~ On the way to sell his.tish, Larry stopped tor some ice crearh because it was such a |
hot 'day. When he returned to his car and unlocked it about an hour latér, he found

that all the fish had died. Explain what might have caused the fish to die.

ES
. 02-Core-29C

Doug stocked his aquariuni with silversides and gizzard shad. Both fish have nearly

the same preferred temperature range. One morning he woke up to find that all the
~silversides had died. The thermostat on the aquarium heater had stuck, and by
‘morning the water was quite warm. E_xpluin why one kind of fiﬂsh died, but the other
did not. S ' ' ' ' '

ES
02-Core-30C

N ] . - N
. Mr. Burras uses pesticides %o keep the insectsott his cotton crop. Usually, however,

only certain kinds -of ingécts are killed, bxpldm why only certain Kinds of insects
dle rather than all thc mscets in the area L :

—pr— -
e S as A

T

. ES

"+ 02-Core-31C...

N N M
A
) ’

"Pafsy went tlshmg, dur.g\g May She uught a lot of. northun plkc by* thmg the
“weed beds in.shallow water near the shore. In July.she tried the same spots and had -
no-luck there, hut -she: tound;that the pike were being caught in arcas whcrc thc Iake -

was deepest. ‘Select the most hkcly reason below for this. S TR L

."’ 0

“ didn't hurt the]r eyes. U -'\v SRR S 2 R

b. So many. pike were eaught in shdllow watcrs that the rest deuded to sw1m
sdown deeper where it was safer. . S

" as a. The sun was br;ghicr m July 50 the tlsh swadn down to whcre the hght L

¢..The plkt. had beu; in the wecd bcds in May hceausc they weré Iookmg for’

food

A4 The’ surface water - had wanmd up, 4(\0 the fish swam decper unuI they

found water in thelr pfdemd temp;raturumngc .

g i . . , .- N

ey - r ™ v
ke 1’ 3 \;.\

ES

" 02:Core-32C .

Salmon survive best in- water th,;,t eontam&s Iarge ,mlounts of dlssolved oxygen.
I. Would you expect. sd,lmon to live in cold water or warm water?
2. Explain the reasoh for your answer.

T s
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Select the graph below that best shows how the température of water affects the = ES
. amount of oxygen gas that will dissolve in water. _ SR . 02-Core-33C
. - - . , M . . . ) . . .- P . . V' .
-Graph a. ' ‘ Graph b.” . B ‘ B ¢ -' N v
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Richard kwm two hsh “tanks in his dpdrtment The bnly difference between the T . ES
tanksns that one is 10° cdoler than the other. Both tanks have air bubbled into them. '~ o OZQore 34C
B I. Ifan acudcnt were to cut oft the supply of air to both of the tanks, would o
I, wthe fish sutyive longer in the warh or the cool tank?. P : . S e e
» 2. State two réasons for. your prcdnhon ’ o ' ' ' -
s - * ¢ .

" T
' . o : by



ES . S Theresa wants to fmd out how fast snanis whnch aré cold-blooded, use oxygen. "She
02 Core-350 *~ measures the rate of oxygen _consumption at differént temperatures. Selegt thé
e _ ~ graph that best shows how you WOuld expect ‘the rate of ‘bxygell consumptlon‘to ’
N depend on temperature S
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Whtch of the followmg is not a result of thermal pollutron" N L L e _

" a. The. btochemrcal oxygen, demand of living- organisms mereases RS RS
b. Seme fisti may be dij en away because the water temperature 1s no Ionger"'

_ ~ within themprc'ferred tempcrature rangey:’

. ' c. The rate -at which sGWage |s deeomposed by mrorobcs hvmg tn ‘the water is. _

' . " slowed.. YA e

: d Some fish’ may: be Killed beeause the water temperature 1s above thelr E o
thermal death point. : ' : o _
The amount ‘of- oxygen that’ can be. dtssolved in the water decreases cooc o C e T

/ L.
- !

h% 3 B . 1‘
A manufacturing plant recmrves permission to release untreated chernlcal pollutantsr ' ) YES
_into a river one’swegk a.year, . The ‘company explams» that durrhg 5] weeks out-of . 02-Core-38C
the.year'ifs dutput meets tederal antipollution stindards. But one week a year, as it e L
flushes .out its tanks for tleaning,. it cannot adequately treat the dtscharge The: - s
" company says this one wegk, ot pollutron is pertecﬂy all rrght because it'is. permxttbd e e "
only for a short time. . . e ML T e e e

-

A A . .
[

1:.1s this sensrb]c reasoning? . ¢, v e S C ,
2. I:xplam yoygan_swer_ “‘ " e T . T St v T A

Parts of ()hro have the same amount of preuprtation as parts of Oregon: HOWever?—" [ERIC CES
the vegetatron is not the same in the*two similar precipitation areas. In'Ohio, there . # 02 Ex,c 3-1 1C
- «areno large forestS. But Oregon-hag grcat forest areas. List three factors whjch could T
cxﬂlam these drfferehees in ‘vegetation. in* areas whrch have the same amount of. . I

preupltatlon . . e N C e ‘ e
. . ’ .. o : . e - . 5 e
v T . : T - = PR R
" d N

Recently, sevual drsrfutcs have arisen betwcen the people in Northern Cakifornia and. covi BS L e
Lthe peoplc in Southern Calitornia about the amount of watér which*will be permitted '_' - OZ;EXc 3-1.-_20 N
to flow frofii thenorthern part of the state to the southern part dfthe state. . ... - L I R

. . Why- weren 't. thcrc as mqr(y argumeﬁtd’ a’Bdut“'lh'e"wateg ﬂ}ow thlrtmears R

R SIS i

;. a _ ngd ) . f N . . N
S 2. Explain why somc“ people thier that thuae drsputes abqut the water ﬂoiv T " : :

-,

= -‘("_ ‘;‘ *

“will eontmue and becomg even more serious inthé-future. N

-
. <. A . L MR

> - - KA

vt - —p it v
N » i s VA

 The rate at which trees lose water to the: atmosphere is ah/out twenty times greatcr N - ES..
. than grass.: Both trees and grass, are used. .t,cif prevent soil erosion. A hilly area sur=-7" 02*5)&03 1 3(; -

_ roundmg a.new "housing prOJu\t i -te be - plantcd but the amount of water m the "« "__\‘_A,_ RN
o gmund is slightly low. S , . LT , .

. 1. As the mayor- -of thrs\ncw eommumty. would you recommend plantmg _
JASS only trees only, or both trees. and grass? * e e

C B prlam your answer. - - T T T T Ea—
. “" g . N o . . i

. .-
T . N RS
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“Stai't with eomponent ﬁumber 4 below Arrange 'the other comp@‘l‘ents by number

L
-.02!Exc 3-14C - _into the system known as a water cycle to show the order in_ which they occur.
E " ‘1'Watér in a lake .
.. 2. Precipitation ™~ -
. 3. l:vapor,itlon w
4. Water runof fina dramage dltch
ES K ‘4 N Paul is going 'tZ mvesngate the. growth of bean plants. He needs. to define plant _
02-Exc 4-1-1C 'growth operationally. Give two ‘operational dertrons for plant growth T -other
‘ ' ' " words give two ways to detect and to measure the growth ot Paul’s plants v
A‘- . B . i_A_A = ] - O Y '
ES - o It hag béen proposed by some people that: plants grow better in surroundmngthat
02 Exc4 1-2C include classical- music. “Describe an- experiment that -you could do to investigate
. whether classical music has an effect on the rate of germination and the growth of - .
. the seeds which germinate. “Be sure to state which variables should be held constant
° and which bhOUld vary.-
S . - ) ,
‘\-,-a"‘\\ ¢
{
Y e " ‘
o a “
. . b : s
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Davnd Schiffli claims that he doesn’t contribute to the aif pollution problem He

never burns leaves or trash, he has spld, his car, and he travels to and from work,
“ using the city’s eleetpeally powered rapid transit system. : e
1. Is David correct in assuming that he doesn t eontnbute to the air pollutnon : g woo
problem? _ g ST : e .
.2, Explain your answer, R ' A Lo T
_ The biggest factory in Industryville has alway% been eonsndered a maJor source of air,, ., ' U ES
L ,pollutlon bepause of the black smoke-issuing from itssmokestack. Recently & filter: - 03-Core-2C
ing system was installed that collects. the solid Jparticles as they travel up the smokq-. : o
stack. Now the sky above the stack is always clear. _ i C
1. ' Does this taetory no lonber eontnbute to air pollutlon" "
2 hxplam your answer. ,o- : N
— — — — e
"In Chapter- 6, you used a piece of Stl(,ky tape to study solid-particle air pollution. X . ES
Write an operational detmltlon for snlzd~partzcle air pollution, using the stxeky-tape . 03-Core-3C
method - ' LN
— K —— : r———
Consider the size of refuse dumps, industrial plints, -major fires, electrical power . ES
plants, and cars and trucks. How do you explain the fact that cars and trucks, »  03-Core-4C
wlmh individually are so_small, produce the greatest amount of pollutxon" (See the . :
" Par graph.)
i
=
4
REFUSE DUMPS
.INDUSTRIAL PLANTS
S ¢
MAJOR FIRES :
ELECTRICAL POWER PLANTS
. CARS AND TRUCKS R
4 100 ’
e
) , .
. 'I - — : [4 .
~—~——Fhesubstances listed below are products of combustion.” Which one is not_considered __ES
to be a major pollutant? 03 Core 5C
a. Smoke
b. (arbon dioxide - ’ ¢ ‘
¢. Nitrogen oxides - ° a
. d. Unburneg hydrocarbons a
¢. Carbon monoxide
A - : N



Select tlw answer’ thatbest mdlcates the possxble effects of aix; pollutnon

Q

' 03-Core-6C ' & Damages buildings .f
' o b. Causes paint to peel’ .
N ._¢. Kills or weakens animals R
3 . Ny d. Discolors clothes. o
VoL , c. All of these
S - ) — — — - g
4 ES Keri: The cost to’ mdustry far equxpment to remove: the: pcuutants from
: - 03-Core-7C : * its output would be very great.” - x
, ) " Joi" .. True, but the cost of not removing the pollutants is also high. K
e _Keri: What? How <an. not spendmg money' to remove pollutants cost
money? L i -
) K ;On your answer sheet, write a good response lor Jo. lnclude at’ least two examples
. ' of hqw relcasmg, lpollutants can bc expensive. -
¢ - A . L = . : “—r ~
" ES - . . Mr Martinez is upset about the extent of air pollution in the big city where he lives..
03-Core-8C " . He decides to move out to the country to escape all the air pollution.
1. Will he esmpc air poltlution by moving to the country?
- 2 Explain your answer.
"ES - . Which of the tollowing graphs shows the greatest populatioh explosion?
03-Core-9C - ' :
Graph a. - Graph b,
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_ Lee ranses guinea plgs in the garage Over the years his guinea pig populatlon ‘has
grown considerably. His mother hay laid®down ‘the faw!. If his guinga pig populauon"
" gets any larger, she WI" make him get rid of all his gumea pigs.’

ot By answering: the Questlons below show* how births must be related to deaths to
. keep_the pop,ulatmn eonstant * Assume that no guinea pigs are qold are glvcn away. e
./ or escape. - e S Con -
; v |.-How many deaths must there bein 1975 to result in a (.Qnstant population?
Ve . a2 How many bmth{s can there be in 1976 to result in a constany population?
s . g ;‘ .‘I ‘... .._“ a _.,'- A B . | )__.v%. l- \l_,—." . + .
-t 7 ['YEAR - I972 973 [ 1974 [ 1975 | 1976 | S
-7 | Populationat'| 63 | 118 | 183. |'183+] 183
_ o | end of year s e SN
© . 7 mirths. T |'s4 ‘820133 148 | 2 |F | o
“|Deaths | 13 0| 38 [L61 |2 |56 | o

. . B o - . A
¥ . . . f -t PR

< - g o <,

Eli 'kept' a cu'l‘t'Ure of fruit flies for’ several months:*. He- added the same. amount of
food' each day. Every week he counted the number of live flies. Then he drew the B
- ° graphshown below. At what point in tlme 1s the number of deqths in the populatmm-

L4

- equal to the number of blrths" i
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R ES . . = Whjcﬁ gj:aph below bcst indxcates how populatxons of plants and- ammals changc W)th e
X © 03-Coré-12C° ' ¥ “time? - : T e
. o . . v’ t.. :. .- .T' -)‘ " R
.‘)"' .. ; .";."‘ . i _‘ ct : .- - "."". \'
,“ _— Grapha.-“ .. . . . R Graph b . g
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T { . . ~' .. B Y. - - LY ° . R ' B . T ) ) 0‘ : ( “ s -‘
- ’ o - : + AR ¥ i g R
o O . . : ~ i
e I'J;‘J ' 2 - ] .. N : :
. ‘- Zz i ) 1 ' N " OF
- - 0 , - - .8 1
| 3 L1 r g : ’ 4 Y
, . ‘4 . . ..' . . [ ! fy: | N ‘€ . ) e
SR | 2| |
e TIME ———— e TIME e
' (;'._“' . : " N ) ;-f;:_": . | . ) [ -: :r. . . . o .o ) - . ‘
o . . Graphc. - - B :,"‘ D Graphd i ?ﬁ | L g L R
v R - : an A . e 2 o
- : T : g N ; i85
RS - . " ! . " 4 > L \B P
Ll ' - el , : ) - .
oo N N- - ‘
. “ C D | e |y
. . g'. . 7 - : 5 ~
-' ' .t ..-'\; A*,‘* B — l‘ L A I ’ . r: - 3 v B 7 ‘D‘.._
: » ) S N ' VY Vo : ] j e - f )
‘ " D - - ._l D ) L
_n' Ed q ! ) Q. i Lyt
. 8 ! ke - ) ’4I e 8 - .’ 'l - 31 e " - ' ‘(‘ !
A L e TIME o ~ TIME —————* ...
It \ . . R Y. :’." 1- ¥ . iy _"/.\‘ - " .:; .
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. ES List four variables that could ljxnitl the size of a nonhuman population.” :
03-Core-13C . A ' L P Ly
. ES | Lo Before 1700, thc number of people in.the world mcrease@ery slowly After 1700,
03-Core-14C . thie population increased rapidly .~ What- varigbles, if any, has.man Jearned to contrql
' oor change that have allowed the human population to increase so rapidly sirice 1700"
, “ES Take your ‘Record Book to your teacher. Your task is either to defend your writteny
03-Core-15C . response to Problem Break 8-1 or ‘Problem Break 8-3 or to make a satisfactore change o
. o in any part of it that your teacher questions. - : . K
‘.)" . Al _ - » Jv -
ES Takc your Redord Book to your teacher Your task is elther to defend your written- .

. OSQCorp-JBC

_-response to Problem Break 8:2 or to make a satnsfactory ¢hange i in an}' part ‘of it that

b .
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Corfsnder the following informatjon about the world’s: populatlon C . _'

_ Prqunt world human population = 3, 833,000,000 03-Core-17C
“Birthraté = 364,000 per day  + . - o
Death rate'= 198 000 per day .. . .. : _ v
Assuming that the blrthmtc and: the ‘teath rate stay comtant how many days wxll ’
it take for the. world’s. population to reach 3,836,000,000?7 Show your calculations. ,.(
“Birghrate | 311,000 T | - «. 7. 03Gare-18C
(per day).{ (high) L o R V L .
Deathrate| 138,200 | ~ .~ ~° - - T e |
o (per dd,y) (low) | . /

I\

Thc current woi'ld blrthrate and dcath rate are shown abovc This s;tuatxon must. -
changc if the populatloh is to stop-inereasing. - Shown bélow are two possxble con- |

ditions*which would rcsult in a constant population.

. - - ..

‘ES .

. -CIOND'JTION:‘I _CONDITION II. S
| Birthrate |3115000 | 138,200 -
(per day) | (high) . S ey
ket v
Deathrate|-311,000 - . {138,200 R
(per day ). : " | (low) ) :
l Wlm,h ‘would, be more desirable - C ondlti'on 1, whwh has an m(,reased' .
death rateZor Condition 11, which hdS a decreased birthrate? . - « 7 :
2. Explain the reasons {of - your apswer, . .
How are tcmpcrature mvcmons rclatcd to mcreaso in air- pollutmn at thc earth’s - . ' . ES "
ssurface? T : : . ' 03-Exc6-1-1C -
Cive a maj'or cause of temperature inversions. ES -
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ES i ‘ 1: Whnch graph below shows the normal Way témperature changes as altntude o
03- Exc 6-1~3C increases? . o
S : -..2. Which. graph below shows the- way. the temperature changes w1th _akltude
- . K during a temperature xnversmn" N '
e ., ”~ L N ‘
. ! ) \-. ¢ ¢
L Graph a e - Graphb , ..
- 20 ‘ ¢l 20
2 " L o
£ £
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Es”

- 03-Exc7-1:1C

Which of”

country? . ..

The number of virs

the f Bllowirfg.variz_ab_les directly, influence ihe gfié“’_bf the popflation in any "

L. e ¢ N, v
b. The number of ljbraries
c¢. The emigration rate \ .
d. The number of storks «, .
e. The déath rate . .




Lucy was domg a populatnon study of rats She used three dlfferent sets of expen-

mental condmons as shown below T e

-

IR E)_(PERIMENTAL
CONDITION

“FOOD SUPPLY

EMIGRATION

- 1

Jimited

allowed

I

unlimited

not allowed

11

limited

not QIIQWed

Four possible experimental results for each of these experiments are shown below.

| EXPERIMENTAL
‘FRESULT

BIRTHRATE vs DEATH RATE

a

. ES
03-Exc 7-1-2C

-~ ..

lower birthrate and equdjly low
death rate -

b . lower birthrate and a hlgher death - -
/ S rate - ' '

higher birthrate tﬁzi‘h deathtate ~'{ - e e

a high birthrate which is equulle'd" L " SURIING V
by the death rate SR - . N

- : : : . ) ¢

_ 1. Based on the results of Dr. Emlen’s experiments with mice, which of the
. - experimental results (a, b, c, or d) shown. above would you prednct Lucy will
“ get for experiment 1?
2. For experiment 117
3. For expcnIQent 1?7

.
Supposc that the two tollowmg new planets have been dlSLOVered ' o " o ES-_
< o 03-Exc 7-2-1C

PLANET

TEMPI_:R_ATURI:- -

RANGE (in°C) .

"COMPOSITION

ATMOSPHERI(‘

“Outasite

| 90t0-15 .

oxygen and mtrogm

“

nitrogen and carben .
dioxide -

Outamind| -20 to 75 ;

1. Would exther ot theSc plarrets be suxtable for human habltatnon w1thout
support equipment? ‘ e

1

L . 2 l:xplam the reasons for your answer. ' STy

- wo
o k] . i o . I
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"ES ’ Each of .the graphs below was. drawn for the populatron of a di‘fferent country
- 03-Exc 7-3-1C Match the approprlate graph to-the: approxrmate average family siZe in that country.
77 Assume that ‘no change in the life 'span of the mdmdual occurred bet\veen i1870 and
1970 , _ _
. Family Size . . el L
o ..« 1. The average famlly had fewer L T e e
ST ~than two children. - ™ - - S T L
ool 0 2 The average family had exactly B
L e .'-..-two children. =~ . . e
*3, The average family had more ' o
\ than two chuldren -

Pg?ulanon Cm-!g . N 5

’ . T
v b s, - . . 3
¥ . v,
H 4 .

iy

L Grapha. « e e Graphb. - o f'.'."Graph c.
. \ . . B .
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16!7_0 TIME =+ 1970 1870 TIME: - .1970 1870 - TIME\ + 1970 -
ES L . The solid line on the graph below shows how human life expectancy has Lhanged in .,
03-Exc 7-3- 20 . the U.S: since 1920. The dotted, line shows one predletron of how-it w:ll ehange:_-' s
. durmg the next few deeades Yo
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The graph below shows how  life expectancy has changed: srnce 1200 A, D,: S ‘ _ ES T .-
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‘Archie works in"a steel mill. As he dnves to work e listens to the car radio. He : ES w o
leaves the radio switched on, and it comes on whelr he'starts the' car, Therefore ‘the 03aExc 8- 1 1G
~ volume is the same when he starts the. car 40.go hom after wo@k s it was that ' Y
. o af
;morning." -He | has noticed that to heaf the radio he ‘has to\urn the-volume up after . .
Nork dnd then tumn it down ag.un the rfext mornlng "bet:a e it sounds too loud: S
.u L.L‘I. A . "xﬁ'a‘ .(
- \’__‘". * . .
) l";‘:\ .
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Syt

the decibel level of the quietest ‘sound: that the person could hear,

. - Robert wa_nted b measure how people s hearlng changed wnt}t agc. He measured
the hearing index of a number of-people. He operationally defined hearing index as”

Wthh of the

. ..-graphs below shows how the hearmg index, as Robert deﬁned 1t usually changes with,
R | age¥ STt e T, N
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. Ed says a furnabqaod a thermostat make jup a\ system. What is meant.by the word . WB
.system? ' : - Co .01-Core-1C
|Z.“ o . — g - : - -. . . — ; " : - ¥ r— .;.
. The-section offa firm'’s wager system shown below can be thought of as a system. - . wB
' A : : o L 01-Core-2C
. o C ——Pressure gauge . . )
Air under pressure —— 4 r-ﬁ _ L ' :
- . .. . . R s R . ‘ .. .
© v Watér- — . '
Outletvalve " | | : . 5
: 1 : Water pump A :
. | R //__ SN
From well gem— — ] N e — e—— Towell
. P . . . ‘
The water level drops in the water tank as water flows out through the outlet valve .
wheh it is opened. ‘As the water level drops, so ddes the pressure on the air and the
pressure “gauge. ‘When the pressure drops to a minimum, the gauge switches the \
pump on. The pump then pumps water intq the tank. The water level rises, the air
. pressure increases until it rcaches a certain point, and the pressure gauge switches the
~ pump off. : . : .
o l. ldcntlty the stlmull and responses that: mdke this a negative feedback sys-
- tem.
’ 2. State how thcy work to, ‘make this a negltive t‘eedbagk system
. . - - . 4 . o - .
Bonnic measured the temperature inside a brooder, a device to keep baby birds warm. v WB
She plotted the temperatures recorded in the brooder on the grid shown below. 01-Core-3C
29} ++ | ‘ ' ,
S 28 : . -
=4 ;
=, 97 _ ~L¢
it :
& 26 'l . . "
- P 1 |
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"o
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YY) v .
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A thermostat is used to regulate' the temperatute inside a tefrigerator. The diagram |

below shows how a refrigerator-thermostat ‘s'ystem wqus\

€

-

Temperature " Thermostat Th%rmostat ot "
rises above senses the :gnt. s message tuer r:‘;ﬂ:;awf
getpont increase reir‘i‘grenrator on :
A L [ A
—J L _ ] C
. Thermostat Thermostat N\
Re¥rigerator - sends message senses the Iemperalture
rops below
turns off to turn decrease p iba '
refrigerator off e set point

.

»

-

Write, the letter of the graph that best shows how the temperature chariges inside a

INCREASING

Graph a.

‘closed refrigerator.

L

¥

>,

INCREASING
" TEMPERATURE

. Graph c.

INCREASING TIME

>

TEMPERATURE

*

INCREASING T_IME)

' Graph b.

S

TEMPERATURE

INCREASING

‘ INCREASING TIME

. Graph d.

>,

1]

—>.

INCREASING
TEMPERATURE

INCREASING TIME;

wB

01-Co_rq;§¢i '

Sl}bpose thdt the thermostat used to control the tcmperdturc m the prmupal’s office
gcts broken in.January.
" .1.Predict one thing lhdl mlght happen to the room temperature if this

occurred. .

2. Explain why it would happen.

&

-
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The formula used to calculate the amount of heat needed to change the temperature : wB
of water is _ ‘ R . 01-Core-6C
~ calorigg = mass (grams) of water X change in temperature (°C).
' vHow many calories bf heat are needed to raise the, tumpurature of 590-grants of water
from 24°C to 39° (“’ Show your caleulations . : :
, Q
‘ State an operational definition of calorie, _ N : T | WwB
’ coL e . . 0%CorelC
How many calories cqual | Calorie?” _ ' : v R ) - WB -
' ' 01-Core-8C
e i - T 7 ] . * K ‘ . . ﬁ%
Select the statement that best indicates what happens in the body to the encrgy in, - - WB .
food which has been caten. . 01-Core-9C .

a. The energy is either used to do work or storcd as fat that can be used as
an energy souru between meals. ' -
b. All of the encrgy is used to keep the body at a constant tunpcmturu ' .
¢. Most of the energy is used in doing work; thc test is used to kcep the body S
at the correct temperature.
d. The energy is used to kccp the body tcmpcraturc constant and to do work;
any that is left over is stored as fat. :
5oe Some of the energy is used to keep the body warm, and the rest is used to-

\ : (l().work - ,

Donny wants to lose some wclght without taking drugs. What are two different ways L : WB
he can do this? _ , : : 01~Core-1OC
Felice wants to lose & pounds. She has .ldjustcd her: ﬁdlbl so that “hes, food cnurgy o wB
input is 1.900 Catories per day." Her body requires '2,400 Calories Ldbhq‘U«ly for 01-Core-11C
doing work anddor temperature control. How long will it take her to lose 8 pounds? . "
Show all your ¢plculations. (Note:- A pound of hody fat represents about 3,500

Calories of storc_ energy.) . 7 e .

Elsic keard of a dict plan in which thu dicter ate only one kind of food. Her doutor wB
insisted that a good diet plan includes eating d variety of different foods such as 01-Core-12C

 leafy vegetables, meats, yellow vegetables, and fruit. Why do doctors stress eating
many different\kinds of food when dieting, as well as decreasing the total fopd intake?

Z X}

N A - -

Your teacher will observe you for this check when he can, ' . WB
b " - 01-Core-13C
ey . ' . M
"D
. \
] -~ ] “
: N ' r
42
b 3
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0_1 -Core-17C

. | N - - - v ‘
w8 Your teacher will observe you for shis check when he can. - .
01-Core-14C : ' R "
’ ! {.
WB _Your teuchér‘-will abserve you Torthis check whcn he can. |, - b / : }
01-Core-15C : / o ' ' o | ' |
wWB Your teacher will observe you for this'check whénhecan. . = . '
01-Core-16C ' ' 1
wB ‘

Your teacher will observe you for thjs check when'he can.

"s

v O . . L ’

01-Exc 1-2-1C

wB Which of the tollowjng is used to measure units of heat energy? . . .
01-Exc 1-1-1C 4. temperdture
' ‘b. gram
¢. calorie
N d. degree
e. millimeter .
wB - In"Excursion 1-1, you found that a single burning peanut gave off more heat than.
~:01-Exc 1-1-2C . five burning marshmallows. Select the best possible conulumon that you could draw
from this activity. )
a. l cannot predict whether all foods give off different amounts of heat
ey when burned because I tested only' marshmallows and"peanuts. .
. 'b. Other foods probably give off differing amounts of* heat cnergy when
: burned, but I cannot be sur¢ because I tested only peanuts and marsh- ‘
’ mallows. o ‘ _
¢. All foods give off the same amount of heat energy when they are burned. -
d. All foods contain different amounts of heat energy. N
WB _Oliver carricd out an autwnty in which he.found that five burnmg mdrshm‘rllows
- 01-Bxc 1-1-3C ' released 3,280 calorics. How many Cglories is this? -,
_ i ‘ .
wB Suppose you were trying to reduce the number of calories you consume. Which one
of the following foods would it probably be best for you to avoid? '

a. Peanut butter, which contains a lot of fats
b. Lean steak, which is mostly protein__... - -
¢. Baked-potatoes, which are mostly starch \

1.1
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gives you the largest number of Calones?
. a. Fried eggplant =~
b. Boiled eggplant _ S
¢« Baked eggplant o
d, No difference =~ o R
2 Explam your answer.

1. Eggplant may be ;frépared in sevel;él' w'ays.r Which method of preparation |

W

: 01-Exc.1-2-2C

T TN v . Ty - - - el .‘
Jeff says his Loach put hinton a well balanced diet. , o K\§// _ wB -
1. Does this mean only that he is countmg Calories? R 01-Exc 1-2-3C
2. bxplam your answer. o
Dennis hdS kept track of the amount of tjmc he spent doing various activities. Part wB
of his activity chart is shown bélow. What is the total number of Calories he used

domg those actmhes" Show your work.

ACTl'VlTY “TIME , | CALORIES USED BODY WEIGHT
. | (in hours) | (per pound of body | (in pounds)
weight per hour)

01-Exc 1-3-1C

Sleeping "8 02 140 .
Walk.ing 2. 0.9 -+ 140 _
[ <«
\
\
&
45 |
* . ' '/. .\.
T " ¢ ¢ ..-/ .
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Not loné-:rgo’ﬂ)u put a qolutnon of ugarctte‘ﬂmokc onxcorn seeds Lo test its effectson o wB
the sceds’ germination. You were asked to use a control Why are controls necessary 02-Core-1C
when dom;, such activities? - | . : o
Name threc different dlenmals or- typcs df Lhumdals tlmt scwntlsts dave found in WB
ugarottc smoke. : 02-Core-2C

A k2l
The dld}_.,rdllls below - show the epithelial tlssuc lrom the Wllldp]pcs of thrée differént T WB ¢
people. One person is a heavy smoker, one smokes a moderate amount, and one is a 02-Core-3C -
nonsmoker. Match the-letters of the proper diagrams below with thc numbers of"the O
labels.
" Types of Smokcrs ¢ Diagrams of Tissuc.
~ ’ .\.‘\
. I. Moderate smoker :
v 2. Nonsmoker. Diagram a.
‘ 3. Heavy smoker
¢
e ° .‘

Diagram b. M

Goblet cells

cells

Diagram c. ¢

Goblet cell Cnha
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/02-Coré-4C

Which of the following is not an effect that smoking has on the body" . ,
a. It causes the epithelium of the windpipe to become thicker and contain
more and larger goblet cells.
b. It reduces thé number and actxvnty of the cilia in the epnthelnum of the :
windpipe. *
c. It tends to. break down the walls of the air sacs in the lungs.
. It causes a loss in the control of cell production in the epithelium.
e "13 _decrea_seg_-the chance of having a cough or other respiratory problems.

(=5

WB

T

Throughout the late fall and early winter, Sally counted the number of students who .
02-Core-5C wore mittens to school and the number who had colds. As the weeks passed, more
students wore mittens and more students had colds. : A
_ 1. Do these data prove that wearing mittens increases the chances of catching
colds? _
2. Explain your answer.
wB ‘The following statements refer to the death rate among people who smoke. Indicate . -
‘02-Core-6C which of these statements is not correct.
- a. The death rate frem cancer of the voice box, mouth, and throat'is higher
for smokers than for nonsmokers. -
b. The death rate for people who stap smoking is just as high as the death
o rate for those who keep smoking." ‘
¢. The death rate for people who smoke fewer cigarettes a day is lower than
4he rate for those who'smoke many. .
d. Smokers who inhale deeply thL a higher death rate than people who
. smoke but do not inhale. :
WB _ Some persons may have a physical dependence on a particular drug. Give an opera-
02-Core-7C tional definition for physical dependence. '
WB- State an operational definition of psychological dependence. ’
02-Core-8C ' ; '
.WB For each of the followmg s1tuat10ns
02-Core-9C (a), indicate whether the person déscribed is phyeneally or psyehologlchlly

dependent on the drug and -
(b) explain your answer. * :
Situation I. \Arthur was givén miedication’ for stomach pains. While he was taking
\hls medicine, he was not bothered by the pain. Then his doctor
found that his stomach pains were cgused by an allergy to milk. He
eliminated milk from his.diet and stopped taking the medication. He
founy this pain was much worse than before unless he took ﬁte -
medigine daily. .
Situation 2. Rut
sevefe cold. She said, “It really makes me feel great.”

‘Now, she

, almo&looke forward to catching a cold so that she has an excuse for

taking some more of that .eough SYyFup.

Cwvaged -, ) ' \
. . " . - » t

tried a new brand of cough syrup last year when she had a ¥’
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Her doctor advnsed her to stop using antibiotics to control

in order from the simplest4o the most complex.

|

;" 02-Exc 2-1-1€

Mrs. Weaver is pregnant. .
her hay fever. Explain why the doctor is concerned about the drugs Mrs. Weaver " 02-Core-10C
takes whn]e she is pregnant . :
Paul took a drug that upsbt his saliva glands, His saliva glands made too much saliva. ws
Diagram and label a possible negative feedback system that mnght no longer be work- 02-Core-11C
ing because of this drug . C. ,

. ' : AN

i VAN
.List two different ways that messages are sent in thie human body. : : \ : wB
' . B , ¢ -02-Core-12C
Two terms that sound alike but don’t mean the same thing are drug use and drug wB
abuse. Explain the difference between them. : 02-Core-13C

. - .\

The four parts listed below make up most plants and an;mals Arrange these parts WB

) . \ ) . . .
written questionnaires. What are several advaptages of using a written questionnaire?

B N

. Organ . .
2.Cell )
e 3. Organ system ' :
4. Tissue :
Explain why it is necessary for most plants and animals to b¢ composed of many _ WB
different kinds of cells instead of just one kind of cell. 02 ExiZ -1-2C
. What are three advantages of an interview over a written questionnaire? \ -~ WB
» , 02\Exc 2-2.1C
Professional! interviewers spend a great deal of time letimlng to ask the same questions a WB
and to use exactly the same tone of voice ‘when conducting a series of interviews. 02~Bxc 2-2-2C
Why is this tralnlng so important? s ' .,
: : : : I - rem - n 7
Despite thc advantages of a personal interview, much research is carried out using wWB

02-Exc 2-2-3C

—p—

. . [

N ‘
Nl

N

WB

v




WB. - Casey wanted to do a survey to determine student attntudes toward marijuana. The .
02-Exc 2-24C first part of his questlonmj . .

e is shown below

SURVEY OF STUDENT A’I'I‘ITUDES TOWARDS MAR!JUANA
1. What is your name?
2. What is your age?
[y 8-10
(1 12-18"°
[ 1 18 yearsor older ' .
3. You don’t smoke marijuana, do you? e
[ 1 yes <. - |
[ 1 no. ' ' -
4. Do you think that people who smeke manjuana are very bad"
ne
d

1L yes
] ~no

»

———————- Improve this questionnaire by rewriting it and making at least three changes.

wB . The diagram below represents the human circulatory system.:

02-Exc 2-3-1C

1. Name the organs indicated by letters A and E.
2. Name the kinds of blgod vessels indicated by letters B, C, and D.




at

. blood flows through. the body by listing, in order, the letters that correspond to the

e

The diégra‘m bélow"repreéents the human girculatory system. Indicate the p

ath that

WB

02Exc282C

ad

LT

various parts. Start and finish with the part labeled G. |
.\ ﬂ -
| K4
"
\ ]
j
'
Give two reasons why red blood cells are-important to the functioning of the body. - . WB
- . ) 02-Exc 2-3-3C
/.
<-.‘p$.' .

.<;.




Sean Dorsey is taking a drug that is a depressant. Define depressant. " WB
o ) . = 03-Core-1C
re
List two effects you might notice in a.friehd who was taking a depressant drug. WB
' 'ﬂ S 03-Core-2C
‘Physicians often use depressants to treat pebple who are sick. Select the helpful : WB
etfebts of -depressants which mlght cause a physician to prescribe them. . 03-Core-3C
a. To relieve the pain from cancer ! o '
b. To help-a person react faster . ’ : o
¢. To reduce the tendency fo cough /
d. To reduce restlessness . ‘
e. To increase alertness - i T ‘
The graph below shows the distances required to stop a car at different speeds. One WB
line shows the stopping distances for a normal driver. The other line shows the 03-Core-4C
-stopping distances for the same driver after he has been drinking. - .
. _ . _ 800
5 5 Tt 100
- W 600
K O
' v« 500 ‘
-
%) 1T .
=400 _ YT |
g ‘ 300 : 1/‘ B . . -
g '
S 200
’_
2 100
& .
0 10 20 30 40 50 60 70 80 90
’ SPEED (in mph) '
i Fi
A
1. Which curve erru;ents thc stoppmg dl%tdn(.b for the driver when he has.
been drinking? ‘
* 2. Explain why the driver has dlttcrcnt stopping- dl‘)tdnt,b curves bcfore and
after drmklng .. _ _ )
e . - :
Some people argue that to determine whethcr a drmang driver should be charged wB
with drunkm driving. ‘a, reaction:time” test is better than a blood-alcohol level test. 03-Core-5C .

I. Why is the blood-alcohol level test not always fair? L
2. Why might testing a driver’s reaction time be farer?

&




Matc‘h\each drug with its possible source,

WB Three different people, all ghout the sarne size, took the ‘d‘r_ugs listed below. | \ '
03-Core-6C - S ' , _ Lo oL N
. Person | | 2sleeping pills = SR L c N :
& Person 2 | 1 sleeping pill and 1 oz whlskey _ 7 N
Person 3 2bz whnskey . , o t T a ‘
| 1. Wthh person is likely to be affected most by these drugs" ) ‘ B
2. Explam the reason for your answer. S _ . : {
. -
WB I Indicate Whlch of the items in the list below are useful properties of a stimulant |
03-Core-7C prescnbed by adoctor. - ~ % °
a. Helps cure an upset stomach . o ' _
b. Helps people get to sleep and have a good rest . - o . o
- ¥ c. Relieves severe pain |
< " d. Relaxes people who tend to be nervous ‘
e. Reduc€s the appetite
WB Stimulants can cause physical and psychological changes in a person who uses ’hem.' :
.03'Core-89 : Record the letters of any of the following Wwhich can be the effects of stimylants.
’ 2. Reduced appetite .o .
b. Flashbacks - expenencmg the effects of the drug at a later tithe when the -
user has not taken the drug recently . ‘
¢. Nervousness, irritability, and anxiety . oo |
d. Physical dependence on the drug - ) '
e. Increased aggressive and unpredictable behavior [
—_— . \ . _ |
wB _ Larry and Tony are drivihg across the country. They plan to take pep pills, which .
03-Core-9C are stimulants, because Tony says the plllS eliminate the need for sleep’caused by o |
*driving long hours™ . ) . ' |
" [. Are pep pills really an etfective substltutf for sleep? . ' B ‘
) 2. Explain your answer. ~ - ' -|
LN -
'WB | . S,omct'imes a person may say that he is beginning to develop a tolerance to a drug. ' _ l
03-Core-10C What does it mean to say that you are developing a tolerance to a drug?. : 4
~WB : N e I

- // 03-Core-11C
/ . :

Hallucinogenic Drugs Possible Sources |

i\ Psilocybin a. Fungus (mold) on grains _

Z\Mesc(llme i b. Hemp plant ‘ , }
3. Marijuana ‘ - ¢. Mushrooms - ‘ " e T
4. LSD - d, Peyote cactus

¢. None of these
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* A scientist is interested\in measuring‘ the effects of marijuana on a 'person’s ability

except that they arc numbered. Sandy’s teacher knows that numbers' | through 4
are pep pills and number 5 is a placebo. But Sandy does not know which pills are
which. Each day she gives every mouse one pill with his number on it, and records
their behavior for an hour, - X

1. Is Sandy-involved in a double-blind cxpernment"

2. Explain your answer.

: ; wB

to work as a waiter. Below is his operational definjtion of a good waiter. ~ 03-Core-12C

. A person’s ability to work successfully as a waiter is detected and '

medsured by his score ona written test of the operating rules of the ’

restaurant where he is to be employed. The h;gher his score, the bet-

 ter waiter heis.” .

I. Is this a good operational definition of a waiter?

2. Explam your answer. ¥
A man and his wife took exactly the same amount of a hallucinogenic drug. * wB
. I. Would you expect them both to expenence the same psychologlcal effects?. 03-Core-13C

2. Explam the reason for your answer., _ - .
Supposc one ot your friends has some LSD-he wants to.try. He knows that.you have WB
been discussing the effects of hallucinogens i in your science class. “What undesirable 03-Core-14C -
or l!npleasant things could LSD do to me?” he asks. . ' :

Ligt at Jeast four different things you could. tell him. .

'A friend of .Bernie’s says he has taken LSD, a hallucinogen, eight times during the - - - WwB '
last year and has not- experienced any bad effects. He claims that-all this talk about 03-Core-15C
LSD causing bad effects is just meant to scare people. -

1.-Does his experlenu, prove that hallucinogens do not produce dny bad .
effects? : :
2. State two-reasons which support your answer. . “
State a definition Yor the term placcbo. wWB
‘ ¢ ' - 03-Core-16C
Scientists who test the effectivencss of a drug give some people: pldcebos and othu w8 _
people the actjve drug. Explain why the scientists do this. 034Core-17C
. 1. Describe what is meant by double-blind experiment. '0)' . wB
2. State why double-blind experiments are used. 03-Core-18C _
.- - - = “I : * -
Sandy is helping her teacher investigate the cffects of a certain pep.pill. Sandy has , wWB
.5 numbered mice in her part of the study. She is given pills that look identical, 03-Core-19C - -




-é - . .
WB Your text suggests two reasofls why laws are passed. State the text’s reason that-
03-Core-20C * each of the following laws was passed. "« I ,

1. A person under the age of 16 cannot buy cigarettes.
2. No one shall be allowed to charge more than 8% mterest for a loan ona -

. house. : : q
¢ - . . . ) . ) . : —
. WB -+ InChapter 6, you read that laws are passed for fwo reasons. One reason is to protect

. 03- Core-21C people from other people. The other is to support certain moral standards.
' : ' 1. Does the following law fif one of the above categorles" “Everyone lrvrng
in Marion County must.pay’a county income tax.”
2. If it does, explain how. lf it doesn’t, explain the reason that such a law

T : might be passed. . T
_-WB ‘ For each'of the following, indicate whether it is an illusion (I), a delusron (_I)), ora
- 03-Exc 5-1-1C hallucmatron (H). , -
' : I. A person feels that the whole world is out to get him.
2. A person on an LSD trip says hexcan hear the color green.
‘3. A person believes that if he steps on a crack he will hdve bad luck.
4. While driving across a desert, a person says he- sees water on the road in the
’ . distance.
5. A driver stopped at a traffic light feels that his car is rolhng backwards when
he noticés the car next to him moving ahead
wB . The DSST was used with new and ar -users of marijuaha. The test could be -
03-Exc 5-2-1C thought of as an operational defy Af tching ability. Explain why the DSST is
: ©an operational definition of matching abilit®. . . - : 5 :
2 - . ) -
wB ' , In the apartment next to Willis and Mike Haig’s, there was a very loud and norsy
03-Exc 5-3-1C  ~ party last night. Willis said that 1t sounded like a pot party. Mike thought it sounded
‘ ' . more like a drinking party. - : .
o S 1. Were the people at' the party more likely to have been smoking marijuana . .
-~ .+ ordrinking alcohol? - '
*"2. Explain your answer. ’ .
. %
oy r r
\ ..




